
Десятичные дроби
                                                                                             Кокушкина 
5Б



Округлите до единиц

36,835≈
937,45≈ 

279,551≈
84,162≈



Ответы:

36,835≈ 37

937,45≈ 937

279,551≈280

84,162≈84



Умножьте

0,4·0,6 = 

4,5·0,3 = 

30·0,09 =

0,25·0,2 =



Ответы

0,4·0,6 = 0,24

4,5·0,3 = 1,35

30·0,09=2,7

0,25·0,2=0,05



Разделите

0,9:0,2 =

2,4:0,6 =

0,72:8 = 

8:0,5 =



Ответы

0,9:0,2 = 4,5

2,4:0,6 = 4

0,72:8 = 0,09

8:0,5 = 16



Спасибо за 
внимание!


